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Part B (Short Answer Type)

Anawer any nine guestiona,

If A={1L2I,B=la,b,clnnd C=le,dl, find (A =B} ~ (A=),

Let R be the relation R = [(1, b), (2, a), (2, ¢J| and 8 be the relation B = fa, v), b, x), (e, ) &, 2

Find R 8,

Findxandy if(y-2, 2c+1)=(x -1,y + 2.

Suppose /: A — B is a constant function when will I b4

(a) one-to-one : (b) onto,

Let A = la, b) and B = (1, 2, 3], find the number of functions from :
(a) Ainto B ; (b) B into A.

Jx=-1 if x> d

Let f:R —+ R be defined by flzx)={x*-2 if-2<2%8
2x+8 if x <=2

Find (a) f (-1} ; (b) f (2).

For the function ”’v‘]={f :::ﬁﬂdlﬁfnf{ﬁ} or explain why they do not exist.

R
i
Evaluate x_{ﬂ_‘ _ET
If 2-2* < g(x)<2cosx for all x, find Hﬂg{x}.
X =&

Let p and g be the proposition “The ﬂmhnhdwnnﬂmvﬁmmﬂuﬂud'
respectively. Express the compound proposition — 9v(~pAq) as an English sentence.

Show that ~(pvg)and -~ pr—g are logically equivalent.

What is the negation of the statement vir(? >z) 2

;:g_glnlsmﬂ
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25. Let A be a set of nop ‘ Ansier any wix questiony.
! “SFO Integers, and lot - be a relation on A x A defined by (a.b) - (c.d)

J ;T.:Ejiﬂ:thprwe that ~ is an equivalence relation.
25. B '3""|-f'“ﬂ-ﬁidﬂrtheﬁ:&luwingmluﬁunﬁma
R=[11012,2),(2,3, (3,2, 4 2), (4, 4)) .
(a) Draw ﬂﬂﬂimtadmph:fhlrmdni.nqn.
97, Consider the functions .I":A—pﬂqnﬂf:ﬂ_,.c prove the following :
{a) Efmdﬂmﬂnblﬂ'muihmf-ghmtm'
(h) Iffundgmuntaﬁmcﬁmnhm;.mmmmﬁmﬂim
98 Letﬂlmdﬂlhernhﬁmnqamﬁﬁpmmm&hrﬂﬂm:

1 06 1 ™1 0 1
Hgiﬂlﬂ'ﬂlindh!!.uull_
01 0 100

Find the matrix representing (i) R; w Ry ; (i) R; ~Ra.
7% Find the continuous extension to x = 3 of the function f{F}'::__:

. 0 x50
3. Let f{:}n{ﬂn% S50

(a) Does 1M (%) exist? If so whatis it 2 If not, why not ?

(b) Does Hm F(%) exist? Ifsowhat isit ? Ifnot, why nat ?
() Does 1im 7(x) exist ?1fso what s it 71 not, why not ?

"

: vectors of the matrix A=|0 b 0
and latent vl 3 0 «

ferce”, lions do not drink coffee”, “some fierce creature

5 Ewmumﬂ‘ﬁﬂ“‘“”"’ ol ,nﬁ:mingthadnmainmnai:twfnllcmtureu,
s ,Wmdqumhﬁm : ‘

(6 x 5 = 30 marks)

*L Find the latent roots

4e not drink coffee” using Pres
g l}“‘lwwmm. of the theoreml

Turn over
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